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,JAL"" Whiit volume of 0,200 M HCI must be added to 250.0 mL of 0.300 M sodium mandelate

Ccpl =4 \’ﬁtu ‘
(NaA) to produce a buffer sclution with pH of 3. 37 K, of mandehc acid (HA)is: 4.0 x 107
Buca, L ."‘-3
a) 97ml. /b) 40 ml. ¢)0.4 ml, d) 1601 mL e) 194 mL
Te 5.- -y el :;-_: s =Sy - . L .
2, C u!culatc lhc ionic attcngth of a solution that is 0.10 M in FeCl, and 0.20 M in FeCl;
a) 24 M b) 0.4 M O12M d)y 1.6M e)05M

-'l -y o‘

' \ 546& 2 Usmg activities, cakulatc thersdfﬁﬁ’]ny of BaSO, in 0.0333M solution of Mg(ClO4)2 The
. : thcrmodynemlc solubility product constant for BaSOy is : 1.1 X 101 wee

el STl 1
l‘-”',"“’ a) IO‘_xlO M b) LIx107"M €)0.10M d)20x10 M e)28x10 M hle -
~ op ce-’ 3 \ Coug ™) = 2, 23047 xw® _— 0. 0bbd ¢
/ E d-! - D\E)“y("‘\f"“\
4

Neglecting any effect caused by volume changes upon addition of s sodmm hydroxide to a
dilute solution of acetic c acid, would you expect the 1W of the acetic acid solution to:

e

%a%oq‘_—b %»u

a) increase
b) decrease
) remains constant
‘ d) we cannot predlctwhat will happe
e T SR o »-

~ i /“j""}l'v

5. Thc correct mass- balance equation for an aqueous solution saturated with Fc(OH); is:
R OH) u‘* el ], r ¥
a) [Fe’'] - = 3|OH "
SIFE) 0T = 10HY [y i) 3. (8 e fottd
C) [Fe l+[H30 l = 2 E /'_‘;) = O\.\- G @q‘@
d) [F"+[OH = m;on L ——— =
¢) none of the above - /F f\/ gcgq,‘%'},\_ I t..[cg- 5\
6. The molar solubility for BaSOy is | es; when dlssolved in a solution that =
has [H;07] of : %“ﬂ N
[~ g — 4\5,0 .,t \}‘ e
a) 2.50M ! A 3,8t JS,) &\ a(b""'}p ‘l"‘
b) 1.50M L g ‘
{ 4 d\“ ~—— . QAL
0.10M > ’ \
020M = @
_ 06M. 2 1
- ’/J\ ) l—Q R E/ C“'J’pj
o - Whnch is the correct charge — balance equatlon of solution containing 0.2 M H;AsO, "
thed W AS 50y ———o &_\-lﬂ;f\}&‘:,)q 4 “‘5'3’4
a) 3[AsO,*] +[H;0°] = [OH] % ;i
b) 3[AsO/] +[OH] = [H;07] WSy \'\ﬂ‘rﬁ‘\,& ~=3 4\ A uJ"' A W, G
¢) 3[H,AsO4] + [H;0" ]== [OH] ~

4) [AsOF] +[H;0'] = [OH] x MR QT e PR ow
(/E)}3[ASO‘3'] + [H2A504']+ 2[HAso. T+HOH] =[H;0"]
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Déc S | R =2 gsT ¢
C s-¥4 EH’;O_{B H’S"+ v 2 _S—Z._‘_ H;D""
/‘;3:9 WO = ot x g ott™
S Al =

TS — 9T -2
Ez;.,‘, iare the Bydrogen 1on conc;}\tratlon at which TI" precipitates % e A =

& antitatively from a solution that is 0.01 M in TI" usin

quar S Sl 2 g saturated solution of  H,S (0.10 M) as a
:,’“‘:l""""ﬂ"’ agent K.- orih x] 5 5%
ser x 107 as a criterion for quantitative precipitation. o L J = r T :]
- H S K 96 10-1 dK ] 3 10-!4 k -2 — ETI} ¥ CHS'J th_S:
For H:S: =96 x an =13 x s _
2 i 2 bp (9 X lO = ﬁ‘ .31 E-S— 1J &
; K
2} 0.55 x10°M @ 1.40x 10°M c¢) 4.56x10°M  d) 1.08M €)3.5 Tyl =z=cqo

[.‘/’/_’/r-')" J

9. A precipitate of BaSOj is confaminated with Ba(NOs),. The best way to remove the impurity is:( RN g

a) filration ~ b) ignition_ Odlgestlon d)washmg e) none of the above i
Z i3

10. The process of dispersing an msoluble matenal into a liquid as a colloid is called:

2) coagulation b) nucleation /\\ tization d) occlusion  e) inclusion =l gk 80F)
i : \\\J/ = M amp W ¢

11. A sample of 2 pure metal chloride (MCI) weighing 0.58051 g is dissolved in water and the - . 4zze
chloride precipitated as AgCl. If the precipitaté weighs 1.4236 g, calculate the atomic weight of

the metal €M), assuming that the atomic weights of chlorine and silver are 35.453 and 107.868,
respectively. meq WAqCl = . 4236

=

-3
44933 <12
2)35.453  b)45980 _ c) 70.906 d)30.653 /a) 22.990 o

N

—4—06

-{ox"‘-"'o‘z"‘\l St

12. mdgmmOnofsoa)nuofo.wMomazgpmnhozoMPb ¥, s Usioo —s 2. Pt BT

déwn. Calculate the P function @@Pb) af¥adding i | 3

e gso.mloﬂ’b(l@q;)zﬂ(,for?bsag 1.6x10° ¥ ik b8 <lloc /
' 7 \

o{oxw go l-} = 2002 C

N
= Sy’ SN < " Nasey
9 b L R < vl
) 6.79 b) 7.11 ¢ 5.08 3.89 e)2.72 N = e ~ Vsl |
_y W N 1
13. In the titration of 50.00 ml of 0.40 M of Na,SO, with 0.20 M Pb(NOs),, le Kot Magoy V‘Pb S
2. PbSO, precipitates down. Calculate the P function of Pb (pPb) after adding
b2 ; 0, is: 16% 10°
3 OOOOmLobe(\JOﬂszpfoerS s is: 1.6 v L P - L’swj \jlexlu
25 630 b LI ) 508 @0 o7 [ - Lzes xi07f
14. Chloride ions are tcybe determmed by titration in a solution dpr 1.5. Which method would give
the best results: Sl,ﬂ, a cedie
a) Mohr's method ( potassium chromate indicator) — , o/' gé»j/\!ﬁ ,\M‘ c 4 bgs, <
b) Fajan's method ( adsorpnon indicators) "
olhard’s method( Fe'™ indicator)—~ =+ <+

— a el base MO,U\CJ\/{‘Q/"
B/’ d) titration with a base using pﬁ@Wr

\c

¢) none of the above.

a bmnudcxon(K,pforAgBrISSOxIO"\) ())f y/‘ d\‘\aj‘“
vanide ion ( Ky fprAgCN1522x10 &

<) lh:ot:)anate ion (K, for AgSCNis 1.1 x 1013
d) jodate jon (Ksp for AglO; is 3.1 x 10)

€) all ions ( Br, CN", SCN, and 105) would show the same sharpness of end point when titrated
with silver nitrate.
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“Values of ¢ for Varlous Lovels of Probabiiity
Degreos of ‘ —
B w ——
| 1.89 2‘3‘ 123 X — k)
3 164 "3'*; 430 052 637
! 1,83 213 8 5.4 b
h] 1.48 2‘0 2N ‘:60 129
6 L4 i XY Py 861
1 142 = 248 . 647
8 140 1 236 18 396
9 138 4 231 ‘ 541
\0 \ 83 336 S04
! 0 \.ga 7 213 & (“-‘ﬂ |
0 . 17 200 | a0
60 ) 1,68

\ ".I 3!83 ’

i 1,30 167 §‘°‘ a7 F 388 l |
‘ | ~00 K

1,64 196 ‘ | |

Activity Coefficient at Indicated Yonle Strength
lon g, I 0.001 0,008 0,01 008 Tor
Hit - 09 0967 093 0913 085 g |
LAY, C M 00" 0.6 0.966 0.930 0.907 0.83 080 -
mv,u),,ms, uco;, PO, WyAs0 4, OAc” 0A-048 0068 0927 0902 082 on
OW”, P, BCN", W8~ , CIdy, €105, B0y, 107, MnOy 0.8 0965 0926 0900 0.8 03§
%, Ch, Br 17, EN7, NOJ NOE, HE0O™ 0.3 0.96% 0,928 0.899 0.81 0 -
”0 C"‘.Tv M’ Nm 0!‘5 0\965 0‘9“ °|"7 0‘80 0"’3 '

‘ °|‘ 0\‘72 0‘756 °|6°0 0|32 0‘“ b
Z'.‘;« c»" 2ok, Bt MY, FedY NP, Colt, Phihalate?” 0.6 0870 0748 0676 048 04D -
80 B, o | g B 0.8 0860 0743 0, *?
WI‘ » “r‘ CM 0-‘5 0\‘0‘ 0174‘ O‘GQS \ -
J l‘.f«r mi" ‘ 0,40 0867 070 0661 044
w’»' .u 1AM 09 0,737 0840 0443 0.24 &
; 'mn Ql‘ 0\726 0‘305 0-:" 0,16 0‘”3 2
?:3. Zatt, Cat, B A 1\ 0547 034K 0282 010 0.063
it P 048 0860 0308 0200 0047 000
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1. Calculate the % relative error in solubility calculation of CuCl in 0,05M KNQ Lag1e
" :

when using molarities instead of activities. For CuCl K, =8.1x107"

\_——

Tl L
a) -46% b) +36% c) -18% @\HS% e) -36% - o=

2. A correct mass-balance equation for a solution saturated with CaC,0;, is:-

il X
’@ [Cazi] = [C,0,%] + [HC,047] + [H,C,04] Cagn <‘Lk"ﬂc‘\1 e
& ;\g)Q.ICaj] + [H;07] =Q)C,0,7] + [OH]
Sy C [Ca:] + [H;0'] =Z{C,0,7] + [OH]
Y __a__ = 4

S I~ —

L =
/\’\‘\CC’\"{L\ - M‘S X i d‘(\ = {M{.g\&o

3. Calculate the molar solubility of Mg(OH), (Ksp =7.1 X 10"'%) in water. \‘XKB

a) 7.1x102 M b)24x10M"M )41 x10""' M @,MO"'M >
i
e) 8.0x10"8M

4. Generation of hydroxide ion as a precipitating agent from urea for the purpose of
- ., 8 3+ v .
precipitating Fe’ as Fe(OH); is called:

a) peptization
b) coagulation

< precipitation from homogeneous solution.
d) digestion of the precipitate

@coprecipitation

5. An aqueous solution contains NaNO; and KBr. The bromide ion was
separated as AgBr by addition of excess precipitating agent AgNO;. The
charge on the surface of the primary adsorption layer of the colloidal
precipitate is AV

a) Positive charge due to the adsorption of potassium ions
b) Negative charge due to the adsorption of nitrate ions
¢ )Positive charge due to the adsorption of silver ions
Negative charge due to the adsorption of bromide ions .
e) Neutral since primary adsorption layer will neutralize the counter ions

2
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6. Which of the following statements is correct:

ate the precipitate.
al precipitates.
hich are

ate in solution to coagul :
urs in case of colloid
tate substance W

a) peptization is heating the precipit
) Inclusion or mixed crystal formation occ

°:“c)/Coprecipitaion is bringing down with the precipi
: hormally soluble.
d)-,Colloidal precipitates are

&) Occlusion is replacing some ions
c<~

best washed with distilled water.
in the crystal by foreign 1015

ate,Na,C,0., weighing 0.2856 g (molar mass

134 g/mol) is dissolved in water, sulfuric acid is added, qnd the solu(tllon 'lst 3
dtrated at 70°C , requiring 45.12 mL of a KMnOj, solution. The end poin ::
overrun and back-titration is carried out with 1.78 mL of 0.0516 M solution ©

oxalic acid. Calculate the molarity of the KMnO; solution.

Equation is:
IMnO, + 5C;0.°

7. A sample of pure sodium oxal

-J16H > Mn’ +10CO; + 8H,O

a) 0.048 M b)0.0197 M ¢)0.0394M  d) 0.009 M @}018 M

. In the titration 50.0 mL 0.1 M NaCl with 0.1 M AgNO;, calculate pCld@ter.”

addition of 50.0 mL. AgNCl)g no. o pey Noy = Son Oy O =
- W, o o\ Aac\ ~ Sow(;},‘o.\ -
a) 6.00 ( b))S.OO c)7.5 d) 7.00 e) 2.00 E.A‘fﬁ" . oo

-~ ? —-\ccskd‘\ g U’_ ~r-”/
c\ >

9. Chloride jons are to be determined by titration in a solution of pH_L.5. Which
method would give the best results:- R< 9
A C

‘Mohr's method using K,CrO, indicator.
) Fajan's method using dichloroflourescein indicator.
¢) Titration with EDTA.
d) Titration with HCI.
@.Back titration usingVolhard's method in which Fe’* indicator is used.

3
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lodide fons are to be separated from chloride ions as silver salts in a solution
containing 0.10 M of each ion, Given that K, for AgCl=1.8x1 0% K, for
Apl s 7.3x10™"" and using 1x10° M as a criterion for quantitative
precipitation, which of the following statements is correct:-

. T’ll’»

“n))separation is not feasible.
9) I can be separated if [Ag"] is less than 7.3x10™2 M.
¢) I" can be separated from CIif [Ag'] is held between
7 7.3%10M-1.8x107 M.
d) AgCl will precipitate if [Ag']= 7.3x10" M. .
¢) Both CI" and I" will precipitate at [Ag'] 7.3x107"% - 1.8x10” M.

11, Calculate the pH of a solution that is 0.1 M of each Fe(III) and Mg(Il), in
which Fe(Ill) is needed to be separated quantitatively from the Mg(II)

as hydroxide. le::n that_w - ”«go W s [§SY pew -
K, for Fe(OH); = 510 A~ [on

Kyp for Mg(OH),= 7.1x107"2 J’g‘;—ﬁ = :
Using 1x10™ M as criterion for quantitative removal ofions <©' 247

-\
' 3. B%\e
;)/ 323 b)892  ¢)5.07 (1077 €247 .

[4

1 2. 0.10M solution of an acid HC w) is titrated with-0.10 M NaOH,
which is the most suitable indicator for this titration:

He 4 NaoW 22 Ylar

Indicator pK in

T (acid) 2 T il e
I (base) 5 Pl =12 W | (NG
III (acid) 10 7 . Corybre

@‘u b) II c/) 11 d)-Torll  e) IlorII
ro \(\S‘— kv, . [ <"—>
N KA ) é

-

, L
< aﬁ‘) Lax (S S Q\M_*.dv-‘ ) (\’_f‘f'\P
QL'wg )\:?

Wdicobor 2 7R
|

Gener ated by CantScanner fromintsig.com


http://www.pdfediting.com

13.

14.

B p———

—Srﬁ ~ \"’

40.00 mL of 0 0900 MH lis titrat it
| . C‘ { ted with 0.1 M NaOH Calculate th pH
after addmon of 30.00 mL 0[“N'10” 4 o ) :
i du\e? —a6 %\S'«L:S

a) 1.82 b) 2.34 ¢) 1.51 @2.07 e) 0.09

In the titration 0f40.00 mL of 0.110 M NRCL (K, for 101 = 6.25x %) with
0.100 M HCI. Calculate the pH after addition of 44.00 mL HCI. Wﬂv\ﬁ

a) 6.38 ~C1}5.24 ©) 4.00 d) 3.21 e) 876 A .
L) 1Swa s i% &

= LA W)ﬁ

15. Which of the following acids would show the sharpst end point when 50.00

mL of 0.10M of the acid is titrated with 0.10 M NaOH:

a) Acid [ with Ka=1x 102 ?
b) Acid II with Ka=1x 10™

c) Acid III with Ka=1 x 10

d) Acid IV with Ka=1x 10 ;
e) Acid V: very strong acid 5
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FeloW); 5= F'U s 2o
7 a3 Bo —
TR B~ + TS T
i Calculate the molar solubility of Fe(OH); (Ksp = 5x10™) in water ’_ : LS
WL Fe*1T LK< CHzo 1
,/a?,g x10™ M 5_0 x10%M ) 6.5%10"M  d)9.0x10" M TN
—€) 8.0x10% M Crinotd << 3ffe™)
iy S ST AR
2. Calculate the pH of a solution that is 0.1 M of each Fe(IIl) and Mg(Il),in = L™= 53 (e
which Fe(IIl) is needed to be separated qugn_tltgtglvel.v f{,OLm the Mg(II) Ay R
as hydroxide. Given that N Fele¥, < - -
K., for Fe(OH); = 5x10™ B NS —
K., for Mg(OH),= 7.1x10°~ L : - % 3%
Using 1x10° M as criterion for quantitative removal of ions SBT3 = 1218 fhoH ] 8
. Lo~ X0elle, ¢ 99 e

a) 5.07, b)8.92 @.23 1077 (€247 )

i = b
3. The molar solubility for SrSOy is highest when dissolved in a solution that | % »'° - e )
1 of : p— ey

has [H;07] o & Fsg'ﬁ .. A
@ 2.50M 2& L%s X0

) 150 M =y _ B

¢ 010M (WAsh, z:\—\S::_v*'J §;;>;5,_.e_ "\

d) 0.20M Lol - £ H3o) |
0.06M 5’“0»3“7: [,Fe_"'g} (3\\ P et -)),

4. Which is the mass-balanced equation for a a solution that is 0.10 M in NaOH and;iiggz%te:dl g &

with Zn(OH); , which undergoes the reaction: 2
NadoH —> k=

Zn(OH),+ 20H > Zn(OH), * v gH "+ Za (o) —= Cn (_"‘ﬂ“‘

""DH LER

. 0.10=[Na']=[ OH |+ [ Zn(OH){]  Twet] =
) 0.10 = [ Na*] =[ OH ] - 2[ Zn(OH){"]
5.0.10 = [ Na'] =| OH |- [ Zn(OH),* ]

@ 0.10 = [ Na'] =[ OH ] +2[ Zn(OH){"|

None of the above
5.Which is the correct charge — balance equation of solution containing 1M AL(SO,);

oy)., — !__“- ¥ Baw &
a) [Al}? + [H]O" ]= ZISO.‘Z.] i [OH-] AL+ C S '-l) y = A ¢ {
b) 3[AF7] +[H;0']= [SO/*]+ [OH] il e T o N
@314*!’*1 +[H,0'J= 2([S0/] + [OH] e T OIS -
[AF'] + [H;0']= [SO/"]+ [OH]] o PALFAN T g g e 2 D YAl

e) None of the above

eliel dl eu vy wdlipuadlliiel 11O e sry.caorm
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g s / 16 w107% 0. 0% 62
-1 Cuzerl] 2340 -3 5 s e Bu T BT
£ A —— . o @
4 s Has = »sT o+ E3O
/, - = A -

Hs~ == Hgze® +S

4

£ h 1 ili ’
/ /6. C:‘]Iiullgtle;we Irgso ?:rsg:l:g‘il;tg ;()flf]:%s in a solution in which the [H30"] is held constant at
2.0 P s and for F,S K, = 9.6 x 10° and K; = 1.3 x 10"

-12 4 g z — - e
asx I M D Stx 10°M  )32x10°%M - S i

g 34x10°M 9 dx10°M g R o

P

W

A% 0.9
Q xtg =

7. Generation of liydrexide ion as a preci

g v itati th ose of
precipitﬂ ting Fe>* as Fe(OH), is called: pliating agent frmp urea for the purp

8) peptizaﬁqn
precipitation from howmogencous solution
@ coagulation
d) digestion of the precipitate
e) coprecipitation

g. An aqueous solution contains NaNO; and KBr. The bromide ion was
separated as AgBr by addition of excess precipitating agent AgNO;. The charge on the

surface of the coagulated colloidal precipitate is: - i)
| 3 =R ) R
.y o oy J—=
Positive charge due to the adsorption of potassium ions — _
egative chiarge due to the adsorption of nitrate ions —

) Positive charge due to the adsorption of silver ions

d) Neutral since primary adsorption layer will neutralize the counter ions
e) Negative charge due to the adsorption of bromide ions .

9. Which of the following statements is correct:.
" 4 é".‘ isperion of colfoidal precipitates cccurs when washed with distilled water.
«b) inclusion means capturing of foreign jons into the space lattices of the erystal.
¢) occlusion means entrapment of a solution droplet into the crystal during precipitation.
d) In gravimetric analysis positive error occurs if the crucuible containing the precipitate is
dried to constant weight. | L '
e) the particie size decreases by decreasing the relative supersaturation ratio.

—2g.<9 qlw.s
: @ LYEEIR] ftei Nt
7T ' Fored
10. Treatment of a 0.2500,g of impure potassium chloride with an excess of ™~ o=.2a1z4f7cL

AgNO; resalted in-the formation of a 0.2912 g of AgCl
(molar mass = 143.36 g/mol). Calculate the percentage of KCI (molar
mass = 74.59 g/ mol) in the sample. : Las  wr1o0n

y ’ waass
0.6% b) 121.2 % c) 303 % d) 52.0 % €)26.0 %

@ In Volhard methed for the determination of I' in an aqueous sample 20.00 mL of 0.10M
gNOJ is added to 10.00 mL of an unkown I solution. The unreacted AgNO;s is back titrated
with 5.00 mL of 0,10 M KSCN using Fe’*as indicator. Calculate the concentration of I in the

unkown sample given that the atomic mass of I' is 127.0 g/mol. T
a) 2540gL  b)0.15g/L @35% 9.05 gL ¢)38.10
\o.oﬂu\_“i“—l’ — N L] o 2 mene! [~ -»A‘J"Js} — ,C,C-'_'~ . ,’;"1 DL >

l‘, e Ao+ €SI =2 pnSeN L

f""g-’yjp’__ {om wiis At v & i
: 1ol 2AS) ¥ wee % e £Fe T B Te( M,

b w}v,‘“" ..f/-/ - ~

Goow i, &) e S 8 ) g Seat

L2, e X =
> Lo~ “n ! -~
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;5 Kw‘berS(h‘M
1.0 x 10°

3 j ¥
A3 In the titration of 35.00 m1 of 0.40 v of Na
mipimtfs down. Calculate the p function ]

@ 6.5 b) 7.11  ¢) 5.08 d) 3.89 €)2.72

JRPRUN

Pb ( Mog) o

/‘;’“?.‘ /1

A2 S0y 4Pl {1303 Y o i
< . ~— PSS ou

SO, with 0.20 M Pb(NO
2+ : 3)2, PbSO
0% (pPb) after adding §0.,00 ml (:l' Pb(NOy),

—.

13. A solution of HCIO, was standardized by dj i '
HgO (molar mass = 216.59 g/mol) in a so) Y dissolving 0.4125 g of prinJary standard grade

US|

HgO®* 4 Br + HO — HgBr +2 05~
The liberated OH ™ consumed 46.51 m| o

the HCIOG is:

Ca) 002M
b) 0.021 M

¢) 0063 M
d) N.082 M
e) 0.100 M

14.In the argentometric determinati_on
method for the endpoint detection, the

3 will have

positive error
b,/ negative error .
¢. There will be no effect on the reults of the titration.

ution of .
KBr'.#;.S\ b (-\C*C"‘ :

f the HCIO, solution. The mdllarlty of
B

bromide ion in an aqueous stpl
ect of carrying out accidentl;t this

d. Higher precipitate f Ag,CrOyis formed.
e. Endpoint could no edV @

15. In titration of 50.00 mL of 0.050 M KI with 0.10 M AgNO;, calculataagir addition a E ‘
0f25.00 mL of the AgNO, solution. Ksp for Aglis 1.7 x 10" - .

a) 3.70 b) 16.77

¢) 130 d) 6.58 [ e) B8.38
? = P11 = Prso
Pe — -
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107% 9 "Al cb

S O o P
: -~

+ . . o o (‘
e Ag’ (atomic mass 107.9 g/mol) in a solution is precipitated by the addition WSS o>

of CI' ion. The final volume of the solution is 500 mL
Ny LR . What should be the
concentration of CI¥if no more than 0,10 mg A .
K,p for AgCl = 1.0x16™° -..A_ g;/g remains unprecipitated?
N ( [t
a) 2.68x10* M (b) 1.0x10°M oox10” ' (g
& 539x10° M SRR c) 5.00x107 M 6 PR
. : e
N (500 -\, ) G- ot #nC
oOD5S — ﬁ‘.\s- ":st-\ \/ _9_\ :%: Y\Q,r! el 4
\0 . fey Yoy OB -Vio . ¢ elFmol BT oy *q“lo
0 % Mg ass 53‘?;7;%)0 ifna\::tlungg D o ssolving.3.30. of NHLCI (molar 20
A g or, adding 125.0 mL'of 0.0111 M NaOH and diluting to P g
500 mL. Ky for NHFTs 1775x10°, 1. 322 4 13 duol.. S e
g _——— P!
; a) 10.11 7.56 @ 644 ‘ {“,)97;'900.0605) 8.7;)’{ — »
ol S e s A
ok Qo R - .
w00l | ot = i P!
a t ol O
3. Which of the following acids would give the sharpest end point when 23.00 ml, is
of 0.10 M of the acid is titrated with 0,10 M NaOH. e .
B Cx ]Ta.0f)
@ acid D with K, = 107 [NIEL AD 2 @,Hx - ‘[.;‘( { é
b) acid E with K, = 10* X 2 ] s
c) acid A with K, = 107 : &&f"‘? £ 2326
d) acid B with K, = 107 OF S —2A80T 2
¢) acid C with K, = 10 3 A % N
. Ol ] - 35an > B CHESEEES SEPUMN
s = b i 5
4. 100 mL,0.036 M HCI solution is titrated with 0.100 M NaOH. Calculate the # «\* ¢
pH after addition of 35.95 mL of the titrant. 22 |
; &
(pﬂ
a) 3.01 b) 700 @ 44 d) 9.11 e) 8.11 B

flate the molar solubility of CuS'in a solutiém in which [H;0"]

oficentration is held constant at 1.0x10" M. Cooe— i u"’ ” &"" Wsp {
Given that K, for CuS = 8x10™ & et g o |
For H3S Kq = 9.6x10° WS e O \

= -14 P =
Ku—1.3)i‘10 v WS+~ on |

a)5x102M  b)7x10¥M G25x10°M  d) 4x10"M  ¢) 3x10° M Hao = MO «OW

P s P —— g s s b
- SN0 &5 C5prCu = O ) " :
Kop . :_?_C:,,f g r:\- sp = CCM ] (S l] .
R L G Y ) T ’ <)
S T e v (15
i e S0 IS aees R e 2 5 !
e oS CMadd - 1 v
L \ - . “lb
W - Eﬁ%\& .
(o b2
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6. Co .. . 3 t x G
/” precipitation in case of colloidal precipitates occurs by: |
a) mechanical : :
,,'(d)N e ent b) inclusion c) inclusion
BB all of the above processes occur R
// M ol k ——'—""_"4 o (ors ‘
D e + V. (HJL;}:\ HS -6
. o A xID

/ ,/7’ A sam a W . e
) ke ire%]ctgfd wﬁ}‘: :azux_; ﬁ titrated with 0.100_M HCI. 40,0 mL of titrant is
reac ivalence point. When 24.0.mL of titrant had been - -
added, the pH was 5.84. Calculate pKj of the ety (9] B nued
(x\_,“\-cyd S
[H;cfj ek S

/ ;"
}“L ; 3 584 1) 798 o811 @93l e) 5.67
a i oW 66 ’ ' ¢
[ )
-5 ./n‘, 7 _ = G .
.)/é”‘/ﬁ{:q IOJ !
b 6 ;’ AN\ . "n & o
\>3 /,&' v ,/ﬁc‘f;;‘?“me the huffer capacity as moles of NaOH for a buffer consisting of 0.2 M _
5 \ %4 3 and 0.3 M NH4Cl (K, for NH; = l.75x10'5) (- N3 | &=, Nbg +Oo R
a) 3.11x107 mol b) 6.5%107 mol ¢) 0.23 mol NHY =, NHg R J] -
d) 6.5x10° mol ¢) 11x10%mol = — L'\ N
: e ; .4 " ('] = xe . 1
| e (4,072 4~ X0 L d, Bl
B ’W@)O@Zﬁz& i u.69 .
g Dﬁj‘ V55
The type of mechanism by which crystalline precipitates fongl is:
) nucleation mechanism. - |
¢) coagulation. ;) i
d) particle growth mechanism. y
e) none of the above!
solution of AgNOs. The ion

10. AgCl is precipitated by adding N4C! to an aqueous
most strongly absorbed 10 the surface of the colloidal precipitate before the

/cqlli/Valencepoixﬁis:- | .
@ oH Nt oCr 9 Ag ¢) H;0' : ™
Ty [ - 1

11. Thebes wash solvent for Fe(OH); gelatinous precipitate is:-

dilute ammoniz solution b) pure water “
P dilute HNO; solution

¢) acetone
¢) ethanol .
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< A4d476 g sam

ple of a petroleum, product v
SO; (molar m

Vas burned in a tube furnace, ang the

H,0,. Reaction is:f

-«

SOxp + H0, > H,S0,

A 25.00 mL portion of 0.00923 M

i NaOH was introduced into the solution of
H;804. Reaction is:

LesByvy
HzSO.‘ +2 NaOH > Na;SO.g + 2 H,0

following which the excess
HCL. Cal

sample,

base was back titrated with 13.33 mL 0f 0.01007 M
culate the parts per million of sulfur (atomic mass 32 g/mol) in the

@ 345.0 ppm b) 0.345 ppm /¢’3oo.o ppm
/ﬂ 175.0 ppm e) 115.0 ppm

13. Which of the following indications is most suitable for the titration of 50,00 mL
of 0.10 M acetic acid (K, = 1.75x10°%) wi

th 0.10 M NaOH. &
Transition range ' W e 3 540 "NE S
- ™ 2) Alizarin yellow 10.0 - 12.

\uo
'b) Thymol blue 12-28eL '
¢) phenol red (‘ =593
Tesol purple 6-92 7
ol phthalein 9.3 =7

14.

0.7500 Y 8 sample containing oxgy__NaCi_(molar mass 58.34 g/mol) and NaBr
(molar mass 102.89 g/mol) was treated with excess AgNOs. The mixture AgCl
" (molar mass 14334 g/mole) and AgBr (molar mass 187,78 g/mol) is filtered,
/ washed, dried and found to weigh 1.5220 g. Calculate the percentage of NaCl in
the sample? i

a) 68.11% b) 16.76% ® 3234% d) 64.64% €)4.01%

ptization ). occlusion ¢) inclusion
\d) coagulation /-a nug!eaﬁon
52 g0
9 o/
- jso b X +9 / /}
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